A

RA B SA(BH) - NRAY - B 01 e HRE2
MESETAY A 19,951,692 23,214,883 ~3,263, 191
=2 10, 133,000
= 980,000
= 1,290,000
2 7,548,692
A4E Bl 2,409,600 676,160 1,733,440
= 980,000
= 44,000
2 1,385,600
ARDETALRE] 2,409,600 676,160 1,733,440
=) 980,000
= 44,000
2 1,385,600
ARRAC AN ALY 1,960,000 525,000 1,435,000
=) 980, 000
2 980,000
401 ANEHILLHY 1,960,000 525,000 1,435,000
=) 980,000
2 980,000
01 Al&H] 1,952,944 525,000 1,427,944
0 ARD SEAIETNAL (13744 ) 1,872,192
2 980,000
2 892, 192
0 ARD STALMBAY &AL Y| 80,752
03 Al&SCHH] 7,086 0 7,086
0 ARD +TALMBAY AlE2THY| 7,086
A4E 2N 82,690 85, 160 A2,470
201 ere ot 80,690 83, 160 A2,470
01 AF=Raelt] 80,000 82,660 2,660
0 478 +ZAE 2BAA 242 80,000
2 IS 690 500 190
0 &44+% B3l 690
203 ARFXY| 2,000 2,000 0
CIEEREEE 2,000 2,000 0
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0 A=A AR 2,000
sEOSd=E /g2 147,000 66,000 81,000
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i 103,000
401 AIEHIZSOYI 147,000 66,000 81,000
& 44,000
= 103,000
01 Al&HI 147,000 66,000 81,000
0 sHEDNSAT A2 (277 2) 147,000
= 44,000
o 103,000
A2AZFEANERX 2 219,910 0 219,910
206 M=l 12,410 0 12,410
01 MZHl 12,410 0 12,410
0 ARDBHALE AS24E DY
5,000& = 1,800Kg 9,000
0 &2 AME M=2 2
1,100& * 31092 = 102l 3,410
401 AIEHIZLROY| 207,500 0 207,500
01 A&l 207,500 0 207,500
0 &2 A4d SAFYI &X
3,500,000 * 25JH4 & 87,500
0 22 A4 XA
4,000,000 * 30042 120,000
ot=& =zl 14,411,816 18,018,000 23,606, 184
= 10, 133,000
& 1,246,000
= 3,032,816
ABIGIET AFY =& 14,411,816 18,018,000 23,606, 184
= 10, 133,000
L= 1,246,000
= 3,032,816
ot==XcelAlE &Xl 11,346,000 14,714,000 23,368,000
= 8,162,000
= 1,197,000
= 1,987,000
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401 ANSHILLHY 11,346,000 14,714,000 3,368,000

= 8,162,000

= 1,197,000

2 1,987,000
01 AZHb] 10,616,210 14,045,482 £3,429,272

0 5tS SHEMMIIH2IAl& &R (102/2) 119,000

2 83,000

= 18,000

2 18,000

0 T Bk42H1 F Yl (L=3.9n) 1,450,345

2 1,086,000

2 364,345

0 5HS k4211 F bl (L=3.3%Kn) 603,807

2 324,000

2 279,807

0 SOl&0tS5t4 E =l (9T 4) 6,231,096

2 4,730,000

= 965,000

2 536,096
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2 1,939,000

= 214,000

2 58,962
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= 49,000
2 444,000
403 XHXISH S 20| & 2,464,000 2,868,000 404,000
= 1,971,000
= 49,000
2 444,000
02 ZIIZSOHE A 2,464,000 2,868,000 404,000
0 HABGHEEAILAX 2,464,000
= 1,971,000
< 49,000
= 444,000
SHET A ELUTYIZ AL 601,816 436,000 165,816
401 AlZHIL 20 601,816 436,000 165,816
01 Al&H| 601,816 436,000 165,816
0 SH+EZE4(5tS, M) 10,0002 * 4,000 40,000
0 St=EHHI(5tS, 2 m) 20,0002 * 2,000m 40,000
0 DIS3I4E SOUNSHAIAY 25
30,000,000 * 8 A 240,000
0 Di2at+E 2REH| 164, 141
0 Z2SHLE AL I &Syl 117,675
o StS el = (75008 /L) 54,118
o EuHaR(50E/Y) 28,517
o o2 2 (8km) 35,040
WSS (AT AIA) 3,045,666 4,486,403 A1,440,737
S RIS (Aot E AR A) 3,045,666 4,486,403 A1,440,737
WEHH K = 3,045,666 4,486,403 A1,440,737
701 JIEtE TS 3,045,666 4,486,403 A1,440,737
01 DJIEIEIAEED 3,045,666 4,486,403 A 1,440,737
0 MxCAIASHES N HE2 1,998,762
0 +EHMSHSH HES 1,046,904
HHS B (AGHSEE AR L) 84,610 34,320 50,290
Ol 2| (MBI T AN A) 4,200 4,200 0
oz 2oy 4,200 4,200 0
|
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